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for hue h* = lab*h = 40/360 = 0.111 a B dat: for hue h* = lab*h = 22/360 = 0.061 [TLS7( fdaplfd (a)éilELABcrzata
lab*tch and lab*nch — 2 -2 3 & |ab*tch and lab*nch a @a a aba

D65: hue O y g y D65: hue O

LCH*Ma: 51 100 40 g 26 13 ! LCH*Ma: 76 28 22

olv*Ma: 1.0 0.0 0.0 . y y y olv*Ma: 1.0 0.0 0.0

triangle lightnesst* y y y triangle lightnesst*
%Gamut y y ’ %Gamut
U*rel = 158 . 2 U*pe = 16
%Regularity B y ; . y %Regularity
Gl = 20 ! G*Hrel = 34
g*crel =37 g*crei=51
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chromaticnessc* chromaticnessc*
16 step scales

11
olorimetric systems TLS00 & TLS70
step colour scales for 10 hues




